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M45: 60 Inside Midplane Start O—1cm from LCMS; 20 Turns
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M45: 60 Inside Midplane Start O—1cm from LCMS; 20 Turns
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M45: 60 Inside Midplane Start O—1cm from LCMS; 20 Turns
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M45: 60 Outside Midplane Start O—1cm from LCMS; 20 Turns
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M45: 60 Outside Midplane Start O—1cm from LCMS; 20 Turns
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M45: 60 Outside Midplane Start O—1cm from LCMS; 20 Turns
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M45: 60 Inside Midplane Start O—4cm from LCMS; 20 Turns
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M45: 60 Inside Midplane Start O—4cm from LCMS; 20 Turns
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M45: 60 Inside Midplane Start O—4cm from LCMS; 20 Turns
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M45: 60 Start Points O—4cm outside LCMS; 20 Toroidal Turns
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M45: 60 Outside Midplane Start O—4cm from LCMS; 20 Turns
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M45: 60 Midplane Starting Points Followed 20 Toroidal Turns
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M45: 60 Midplane Starting Points Followed 200 Toroidal Turns
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